



**Vendor Ranking** 

Page 1 of 1

**Letting:** 02240214 February 14, 2024 11:00 AM **Call Order:** 010 **Contract:** E21L7-R0

District: District 2 Counties: ALACHUA, DIST/ST-WIDE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 41021347270 (\*)

Contract Desc: Gainesville Maintenance Routine Maintenance

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	T & M LAWN-FENCE SERVICE INC	Responsive	Winning bid	\$118,795.00	100.00%
2	QUALITY LAKE MANAGEMENT, INC	Responsive	Non-Winning Bid	\$120,462.50	101.40%
3	HOYERS EXPRESS	Responsive	Non-Winning Bid	\$135,837.50	114.35%
4	GRSC, INC.	Responsive	Non-Winning Bid	\$185,114.50	155.83%
5	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$247,562.50	208.39%
6	WD GARDNER LLC	Responsive	Non-Winning Bid	\$264,800.00	222.91%
7	TREELINE FORESTRY	Non Responsive	Non-Winning Bid	\$271,112.50	228.22%
8	SABINO FUENTES LAWN & LITTER ROAD SERVICES LLC	Responsive	Non-Winning Bid	\$332,200.00	279.64%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



02/23/2024

#### **Tabulation of Bids**

Page 1 of 4

**Letting:** 02240214 February 14, 2024 **Call Order:** 010 **Contract:** E21L7-R0

District: District 2 Counties: ALACHUA, DIST/ST- Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS WIDE Project(s): 41021347270 (\*)

**Contract Descr:** Gainesville Maintenance Routine Maintenance

The improvements under this work document driven contract consist of routine tree pruning and trimming behind sidewalks, curb & gutter and over travel lanes approximately three (3) cycles (times) per year. Selective tree pruning and trimming will be performed as needed throughout the contract time period as listed in the bid items within state maintained right of ways in urbanized areas of Alachua County. Pole saws, hedge trimmers, bucket trucks, chainsaws, and other hand tools and equipment may be required to perform the work. All vegetative material will need to be picked up and removed from the right of way daily and disposed of properly. Mobilization and Maintenance of Traffic are incidental to the pay items listed. RENEWAL OPTION. BID EXPRESS MANDATORY.

Line No / Item ID Alternate Item Description	Quantity Units	(1) T & M LAV		(2) QUALI MANAGEM		(3) HOYER	S EXPRESS
( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (TRI	EE TRIMMI	NG AND REMOVA	L (MH				
0005 E580336 PRUNING AND TRIMMING (LESS THAN 4")	70.000 EA	1.00000	70.00	5.00000	350.00	25.00000	1,750.00
0010 E580336 1 PRUNING AND TRIMMING (4" TO 24")	195.000 EA	50.00000	9,750.00	5.00000	975.00	100.00000	19,500.00
0015 E580336 2 PRUNING AND TRIMMING (> 24")	150.000 EA	50.00000	7,500.00	5.00000	750.00	125.00000	18,750.00
0020 E580336 4 PRUNING AND TRIMMING (TREES AND SHRUBS)	112.750 PM	900.00000	101,475.00	1,050.00000	118,387.50	850.00000	95,837.50
0001 TREE TRIMMING AND Sectio REMOVAL (MH)	n Totals:	1	\$118,795.00		\$120,462.50		\$135,837.50

Contract Grand Totals:	\$118,795.00	\$120,462.50	135,837.50





# **Tabulation of Bids**

Page 2 of 4

Lettin	<b>g</b> : 022	40214 F	ebruary 14, 2	024 <b>Cal</b>	<b>I Order:</b> 010		Contract:	E21L7-R0	
	Line No / Item ID Alternate Quantity Item Description Units		(4) GRSC, INC.		(5) MIDWESTERN CONSTRUCTION, INC		(6) WD GARDNER LLC		
( ) in	dicates item is bid a	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0	0001	(TREE TRIMMI	NG AND REMOVA	AL (MH				
0005 PRUNII 4")	E580336 NG AND TRIMMI	NG (LESS TH	70.000 IAN EA	50.00000	3,500.00	100.00000	7,000.00	50.00000	3,500.00
0010 PRUNII	E580336 1 NG AND TRIMMII	NG (4" TO 24	195.000 ") EA	50.00000	9,750.00	145.00000	28,275.00	300.00000	58,500.00
0015 PRUNII	E580336 2 NG AND TRIMMI	NG (> 24")	150.000 EA	125.00000	18,750.00	175.00000	26,250.00	450.00000	67,500.00
0020 PRUNII SHRUE	E580336 4 NG AND TRIMMI SS)	NG (TREES A	112.750 AND PM	1,358.00000	153,114.50	1,650.00000	186,037.50	1,200.00000	135,300.00
	001 TREE TRIMN REMO	IING AND Se VAL (MH)	ection Totals:		\$185,114.50		\$247,562.50		\$264,800.00
	(	Contract Gra	and Totals:		\$185,114.50		\$247,562.50		264,800.00





# **Tabulation of Bids**

Page 3 of 4

Lettin	<b>g</b> : 0	)2240214	February 14, 20	024 <b>Cal</b>	<b>I Order:</b> 010		Contract:	E21L7-R0	
	No / Item ID Description	Alterna	te Quantity Units	(7) TREELINE	FORESTRY	(8) SABINO FUE LITTER ROAD S			
		oid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(TREE TRIMMI	NG AND REMOVA	AL (MH				
0005 PRUNII 4")	E580336 NG AND TRIM	IMING (LESS T	70.000 THAN EA	75.00000	5,250.00	500.00000	35,000.00		
0010 PRUNII	E580336 1 NG AND TRIM	IMING (4" TO 2	195.000 24") EA	275.00000	53,625.00	600.00000	117,000.00		
0015 PRUNII	E580336 2 NG AND TRIM	IMING (> 24")	150.000 EA	325.00000	48,750.00	600.00000	90,000.00		
0020 PRUNII SHRUB		IMING (TREES	112.750 S AND PM	1,450.00000	163,487.50	800.00000	90,200.00		
00		MMING AND S MOVAL (MH)	Section Totals:		\$271,112.50		\$332,200.00		
		Contract G	rand Totals:		\$271,112.50		\$332,200.00		



02/23/2024

**Tabulation of Bids** 

Page 4 of 4

**Letting:** 02240214

February 14, 2024

Call Order: 010

Contract:

E21L7-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.